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Note — Attempt five questions in all, selecting one question

from cach Unit. Question No. 1 is compulsory.
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[. (A) Attempt the following questions.

frefafea gl & S SIS

(1)

(1)
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Under Monopoly, the Average Revenue
CURVE: s
(a) Slopes downward to right
(b)  Parallel to the Y-axis
(¢c) Parallel to the X-axis
(d) Rectangular Hyperbola
TR Ffadifitar & si=rid, sfed &mm
9% Bl ®
(1) TPl Tk g B
(9) X-#8 % HHAAHT
(9) Y-3181 & HHARR
(%) STIARR  BAYLETCA
Under dumping, price in the domestic
market is higher than the price in foreign
market. (True/False)
Sfer & retd, wie] arsm # wma faeed
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()  The concept of ‘Excess Capacity’ is a

.............. period concept. (short/long)
"erfafEa e’ #toaRom T i
RO ¥ (srea/<TE)

(v) ‘Oligoi’ and ‘poly’ means :
(@)  Few and control
(b) Large and control
(¢) Few and barriers
(d) Large and barriers
‘SAIfAf’ SR ‘Ot w1 Hada
() HB IR fagsm
(d) el SR s
(H) HF N TR
() “IrE1 AR T
(v)  Price paid for the use of labour is called

in Economics.  (Rent/Wages)

Aol % ST % forg & W ot
AR T il e b Fed ¢l
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Features of public goods e -

(vi)
(a) Non-rivals
(b) Non-exclusive
(¢) Free rider problems
(d) All of these
SR a%] i favioad § .
(1) Tr-ufaggt
(4) -3
() % Ugel gEend
(5) 3 |4l
(Ui 0 is a free gift of nature.
(Land/Labour)
............... UFfa 1 TR IR F
(fw/msed)
(ViITDB@QuUasiient = o0 o :
(a) TR-TC
(b) TR-VC
(¢) TR-FC
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(d) None of these
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() TR-TC
(¥) TR-VC
(W) TR-FC
(T) =™ 4 = =

(1X)  Gross interest includes -
(@) Reward for risk
(b)  Reward for Mmanagement
(¢) Reward for Inconvenience
(d). All of these
ghd &IOS 4 gfgfaq aar ¥ -
(1) Sifem & foaq sam
() Yo" & fau zam
(8) sgfaw & fau W
() = gt

(x)  According to Schumpeter, profit is the

result of innovation. (True/False)
Yrfier & STTER, oY Fagedd 1 iy
gl GIE
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(B) Short Answer Type Questions :
(1) ‘Ii\'pluin the types of price discrimination.
Fmg fadg & & H 9Guig FHifsw
(i)  What is product differentiation ? Explain
in briet.
SR faudisstn 0 § 2 HA9 H 9z
(i) Discuss the concept of market success.
SIS HHheldl shl ¥ROT ] €t STy |
(iv) Discuss the various types of rent.
T % YRl 1 0 wHifey |
Part-B (¥T7T-9)
Unit-I (3&hTE-I)
2. What is Price Discriminatidn ? How price and output
are determined under price discrimination ?

Fmq fade 1 & ? FiHd fa¥e & 31=<id HiHd 9
3Ide 1 fA9Ror 9 8@ ¥ 2 |
Or
(31eram)

Define Natural Monopoly. Why these should be
regulated or controlled by the Government ?

THideh THIHHR 1 gReE HIfST) 3% TR 5N
Fi fafya fen s =nfew ?
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Part-C (9T-|)
Unit-IT (3&13-11)
Witat-are Selling Cost- 2 How does a firm attain

W'l o & % 1 ; ; ;
price and output equilibrium with selling cost ?

Ak T 0 ¥ 2 U W g forw o A feeif
i 9 SR H e By e S E 2

Or
(3T<ra)
Define the concept of Oligopoly. How is the price
and output determined under oligopoly ?

awfwﬁmﬁvﬁwﬁaaﬂmlmm
SIHd 9 3IAET Hy it g § 2

Part-D (9T1-9)
Unit-IIT (3ahte-I1I)

4. Explain positive and negative externalities. How these

externalities are linked with market failure ?
FRIHF 9 AFNHE derde 1 aft Hifsw d
arerand frg yHn R fawaa § S § 2
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Or
(37eran)
Critically examine the modern theory of w

ages.

Wgﬂﬁangﬁa;fﬂmﬁwm’m‘—rmm

Part-E (9171-3)
Unit-1V (gerrE-1v)

5. Cntically examine the Ricardian theory of rent.

ﬁ?ﬂgﬁ@aﬂm#ﬁmﬁ_mmaﬂh
HIfST |

Or
(31erem)

What is Profit ? Explain risk theory of profit in
detail.

WﬂW%?Wﬂ?ﬁf@ﬂﬁq@?ﬁmml
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